


1	 .875 OD X .3125 ID x .500 Steel Spacer
1	 .875 OD x .4375 ID x 1.00 Steel Spacer

Hardware Note:  4 of the provided M8-1.25 x 20MM hex cap screws and 8MM AN Washers are 
used for the water pump pulley installation, only 1 each of the provided bolts and washers are 
used for the A/C compressor bracket installation.

Note:  Engine and underhood components are extremely hot and installation must be done on 
a vehicle that is cool.

Installation
1.  Open package and review contents against parts list. (photo 1) 

2.  Assemble the lower mounting bracket first by putting the 7/16” AN washer under the head of the 
7/16” x 2 1/4” hex bolt.  Then insert the bolt through the bottom rear compressor mounting lug then 
slide the supplied .875 OD x .4375 ID x 1.00 steel spacer onto the bolt. The assembled components 
will look like the example shown. (photo 2)  Thread the assembled lower mounting components into the 
cylinder head by hand and leave slightly loose at this time.  Lightly apply anti-seize compound to the 
bolt threads. (photo 3)

3.  Next, assemble the lower mounting bracket first by putting the 5/16” AN washer under the head 
of the 5/16”-18 x 4” hex bolt then through the slotted end of the lower bracket (with the offset bend in 
bracket going away from the cylinder head). (photo 4) Lightly coat the threads of the bolt with thread 
sealant and thread into the mounting hole in the water pump and timing cover.  Now, insert a supplied 
8MM AN washer under the head of one of the supplied M8-1.25 x 20MM hex bolts and rotate the lower 
bracket up behind the lower front mounting lug on the compressor and thread in by hand. (photo 5)  

PHOTO 1

PHOTO 2 PHOTO 3



4.  Assemble the upper adjuster assembly first by putting the supplied 5/16” AN washer under the head 
of the 5/16”-18 x 1 1/2” hex bolt, then through one end of the adjuster assembly and through the .875 
OD x .3125 ID x .500 thick steel spacer then thread the assembly into the back of the timing cover.  Next, 
put the supplied 5/16” AN washer under the head of a supplied 5/16”-18 x 1 3/4” hex bolt then through 
the other end of the adjuster assembly and through the sleeve pressed into the upper rear compressor 
mounting lug.  Thread the supplied 5/16”-18 Nyloc nut onto the bolt and hand tighten. (photo 6)

5.  Next, visually check and verify pulley alignment.  If there are any concerns or mis-alignment issues, 
contact our tech line at 559-255-0527.  If the pulley alignment is good, remove the upper adjustment 
bolt assembly, rotate the A/C compressor inboard, install the appropriate drive belt and reinstall the 
upper adjustment bolt, washer and nut. NOTE:  It may be necessary to thread the heim joints into the 
adjuster body to allow reinstallation of the upper mounting hardware and belt. 

6.  Go through and tighten the lower bracket to water pump hardware, upper adjuster-to-timing cover 
hardware and upper adjuster-to-compressor hardware. (photo 7) Next, adjust the belt tension by rotating 
the upper adjuster assembly outwards until proper belt tension has been set (consult your factory shop 
manual for belt tension guidelines). (photo 8) Now, lock the LH and RH threaded jam nuts at either end 
of the adjuster.  Lastly, finish by tightening the lower compressor-to-cylinder head hardware, and the 
compressor to lower bracket hardware. (photo 9)

7.  Connect A/C compressor wiring and plumbing according to your particular installation using your 
factory shop manual for reference as necessary.

PHOTO 8

PHOTO 7

PHOTO 9

PHOTO 6

PHOTO 4 PHOTO 5


